RiClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-958 Opaque Therma-Tru STL door OXO (LK, DB\C - Drawings\TX-4771.72_recover.dwg, TX-4771

POWERED BY'!
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel
Single Door w/ Sidelites

CONTINUOUS HEAD & SILL FRAME SYSTEM

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Opaqgue Steel Door system described herein complies with the 2018
Infernational Residential Code {IRC), Sections R301 & R609 and the 2018
Infernational Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required fo be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the

* design pressure rating shown in the design pressure chart, sheet 1 of this -
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details
Horizontal cross sections
Verlical cross sections
Vertical cross sections
frame anchoring

Niosnfnia Wi

69" MAX. OVERALL
FRAME WIDTH

82" MAX. OVERALL
FRAME HEIGHT [INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)
)

INSWING

OUTSWING

+55.0 -55.0

+50.0

-50.0

SEE SHEET 6 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

W,
]
- ™
= < 73]
]
o w b
- 0 ui 0
4 in Z~
fy ©®B &
bl |
.o £ Z
uw eg Lat
c 3 ; gﬁz
[+ 3
2 8o 33
§° BEEI8 5i
3 J @ ¥
A>0 ﬂé
bl
Z Ow e}
oM A
& O N g
9 4
O Xz
v F 0 [T
e £m, Ok
] 9 . c
o Eg6 9
® 5Qe 5{2
& mao o 08
p
.} § [
Rl
£ E
5 gw
£ @§ o
o
)
[a}

Uy
=z
52
&5
&
52
£ L Rh
> o <©
S |Pus
oy al &
7
< Fx
P el R
=0
3 S| &o
2 gt
o v x
o
& &
0>
Lt o
Ly
Q
e}
|0
O
8l
£ 1o
Sl@l in
A pd
o|® O
5| 2
g 2l
=N
S
Ll
SIE
83
<
[s)]
S| |
Nl I
™~ B
-1 lo
z
oATE: 12/11/17
scale: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4771

SHEET 1 oF 7




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-958 Opaque Therma-Tru STL door OXO (LK, DBN\C - Drawings\TX-4771.72_recover.dwg, 2.3

— 118" |

EXTERIOR

W
\

- 3.87"
1.18" f—~'

N

HINGE STILE
[(WOOD)
36" DOOR
WIDTH
}D
M = |
\ZJ 5
~O
= g
Ll ¥
x
Z |
< & ‘
3 o)
<
3 X }
R SEE HARDWARE
TABLE

‘ DOOR PANEL
Therma-Tru Steel (Wood Edge}

DOOR SKIN: STEEL 25 GA. (0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

/"1 "\ HORIZONTAL CROSS SECTION

INTERIOR

LOCK BLOCK LATCH STILE
12.5" LONG (WOOD)
(LAMINATED WOOD)

\2/

KWIKSET

KNOB: SIGNATURE SERIES
DEADBOLT:  SIGNATURE SERIES (980)

0.87"

TOP RAIL —

[COMP.)

EXTERIOR

STEEL DOOR SKIN

INTERIOR

0.87

BOTIOM RAIL AL

[COMP,)

7“2\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

ENDURA
DOOR PANEL DETAILS

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

11/20/19]ADD "FusionFrame” OPTION &

1

REVISIONS

E
<
o
o
z
7

OATE: 12/11 /1

SCALE:  N.T.S.

DWG. 8Y: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4771

SHEET 2 OF 7

© 2017 R.W. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-958 Opaque Therma-Tru STL door OXO (LK, DBN\C - Drawings\TX-4771.72_recover.dwg, 3.3

ui
o
R 0
: go o
147" INTERIOR (0 ]
'* “ 0 . g woo adB UL
' o g 2 Z 23 o9
= - - f ] 23 ] 50 0k
~ L IS : >0 gé
N : ik 200 50
‘ o TOP RAIL —| e § B8R Fe
/ EXTERIOR g 94898
D~
STILE (WOOD) £ 8ar g%
FOAM CORE— | 2 § :
i 4
/ 1"\ HORIZONTAL CROSS SECTION E X S i
]4" MAX / t:‘:;‘ ma\
PANEL WIDTH 02
n P E%J
_ 6" MAX. D.L.O. @\ i
g | ok
1 D > =2
#6 X 1-1/2" PH SMS GLASS BITE 1/2" ) o &2
& |3 .=
‘ e AN 171 E}Li]
T - x O
O o "‘&
1/8" TEMPERED GLASS INTERIOR - EXTERIOR 2 o B3
— \ [s 0.
. \ AIR SPACE ol I
o I 1/8" TEMPERED GLASS -
£ 9 EXTERIOR s
g 3 STEEL SPACER <[
% LOW TACK SEALANT BUTYL GLAZING COMPOUND z §
. s =
2 5 @ GLAZING DETAIL 58| v
:2 v PVC lite Frame | %
2 5| 2
o~ bt >
S "g o o
iy
STEEL DOOR SKIN IRl
. i - e
e A L 5 8 5
O
-—+ o
! ) S| |
a3 S| =
— / ‘ — ()]
B\ BOTTOM RAIL ==
—n|  |j=— 053" {COMP.) N =
OATE: 12/11/17
(ysoamese (R rrane TS
a-1ru yree Q0 e —
em 9 / 2\ VERTICAL CROSS SECTION TSI
\y cHk. By:  LFS
DRAWING NO.:
DOOR SKIN: STEEL 25 GA. {0.020" MIN. THICKNESS) TX=4771
CORE MATERIAL: POLYURETHANE FOAM SHEET 3 oF 7.

© 2017 R.W. BUILDING CONSULTANTS ING.




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-958 Opaque Therma-Tru STL door OXO (LK, DB\C - Drawings\TX-4771.72_recover.dwg, 4.3

w—t
S
AN

N-\_\.'\\;‘;\x_\lll
xR ol
o 21

ek o x L L TN
S5E OF TR
«\):.",.nvnun'-‘:%"

BACK-TO-BACK JAMBS:
“FusionFrame” (1 OR 2-PIECE])

ui
o g
‘:F
33
Ex o
£ 0
0 ., (o)
U)h.! 9
.0 ~
w o
£ o
0 ov
ST
2 5@
>
ow
n
o
»
[+3
o
o
o

BUILDING CONSULTANTS, INC.

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

& 5
A4 "FusionFrame”" z
N4/ m m MIULUON ¥ °
(3 TSNS N 2 343
i [N
v G ) INTERIOR #10 X 2-1/2" PFH 2
O (2] - © g % WOOD SCREW s 5
X\ 4 /70 #8 X 2-1/2" FH COURSE 0 [ | ENDURA WEATHERSTRIP (SEE NOTE 2) 3
THREAD DRYWALL SCREW (QEBD/PE 650) 8
(SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
v DOOR PANEL (QEBD/PE 650) /
L %)
/ / g \ = - g §B
7 s 43R
> b N 4 / Z o = g 0
- H (W] ] g O
N 73N NN y SIDELITE PANEL N s HEX21/2 P o S - 5
R ey 2 6/ 6 NG @ #8 X 2-1/2" PFH WOOD SCREW SIS DOOR PANEL LacH WOODSCREW (seenore ) (2 o
&E) ;\Jg)va #8 X 3/4" PFH SMS 4" HINGE =R = =
[XO/OX SIMILAR) /~3 "\ HORIZONTAL CROSS SECTION (“4"\ HORITONTAL CROSS SECTION £ &
(@]
Q
—-——-]_5"——»— <_‘].5“—> 3
4-3/8" FATBOY 4-3/8" FATBOY 3|E
\ WOOD PINE MULLION \ PINE MULLION \ g § .
L =2
\ INTERIOR #8 X 2-1/2" FH COURSE 2R 2
COMPOSITE #8X2-1/2' FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW SIS S
\ . THREAD DRYWALL SCREW (QEBD/PE 650) (SEE NOTE 1) ‘g of |&
3 . 5 ISEENOTET) \ DOOR PANEL ENDURA WEATHERSTRIP 4 SIDELITE PANEL R
~ Sl N < / A (QEBD/PE 650) \ # | / | 1S
N e ‘Zﬂ ] 23
[:] D Ie‘“‘ : 3
BN 2 TSI \ S N S ke
- - SR | SN 3 S S§E
/ U ) | §7§ N\ =
- O
pzd
—~ 2.5" 25" - / .
SIDELITE PANEL / } X 1" PEH SMS #8 X 2-1/2" PFH WOOD SCREW owte: 12/11/17
FATBOY MULLION MULLION #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH SCALE: N.T.J_Z.
PINE "FusionFrame" ’ . STRIKE PLATE pwe. BY:
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR o o LFS
NOTES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 total). m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION TX—4771

2. Spacing for mullion screws: é" from each end plus 3 more equally spaced (5 total).

\U Outswing shown - Inswing also approved W Outswing shown - Inswing also approved

SHEET 4 oF 7/

© 2017 R.W. BUILDING CONSLULTANTS ING.




R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-958 Opagque Therma-Tru STL door OXO (LK, DBAC - Drawings\TX-4771.72_recover.dwg, 5.3

2X FRAMING 2X FRAMING 2X FRAMING
- (G >=0.42) (G>=0.42) (G >i‘O-'iQ) —
S~ ™ —— r:- \
¢ |1 TSN / ‘ fLi " \
’ 1 wth EXT. SHEATHING [T} 5
EXT. SHEATHING /|4 o \ DRYWALL o N[ EXT. SHEATHING 1l s \
\ | = DRYWALL \ i / \ 4 j E .| DRYWALL
o |~ #10X2-1/2" PFH AN #10X 2-1/2" PFH '
1/4" MAX ~  WOODSCREW P I8 wooD SCREW
SHIM SPACE 1/4" MAX. o TN — > #10X 3" PFH
SHIM SPACE . Wik
¥ N G ¥ o e WOOD SCREW
SGE SEE 1/4" MAX.
‘ SHIM SPACE = (00 Eﬁj
DOOR PANEL \ ? SIDELITE PANEL ~_ \ ? DOOR PANEL
™~ MEAD: PINE N HEAD: "FusionFrame"” (1-PIECE]
‘ #BX 2:1/2 it COURSE HEAD: PINE ENDURA WEATHERSTRIP
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW (QEBD/PE 650)
(QEBD/PE 650) (SEE NOTE 1) . i
EXTERIOR W NTERIOR INTERIOR EXTERIOR EXTERIOR Y INTERIOR
NOTE:

1"\ VERTICAL CROSS SECTION
W Outswing shown - inswing also approved

0.75" —t<——~f 0.75" —1«—»1 f<—>j-— 0.75"
COMPOSITE
\ SNAP-ON
CA{\
2 oL
O
—
/
O LVL
4
| of
—>! 1.25" i‘—_.. 125" == | 195 |=
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionfFrame” "FusionFrame”
{1-PIECE) {2-PIECE)

2"\ VERTICAL CROSS SECTION
W Inswing shown - Outswing also approved

1/4" MAX.
SHIM SPACE
#10 X 2-1/2" PFH WOOD SCREW
JAMB: PINE / /DRYW ALL
#8 X 2-1/2" FH COURSE \
THREAD DRYWALL SCREW Wkl
(SEE NOTE 1) \ T\
2X FRAMING
S {G>=0.42)

\\

N—
- NS N
% A N A U . A

SIDELITE PANEL EXT. SHEATHING

/4 HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

EXTERIOR

7“3\ VERTICAL CROSS SECTION I

w Outswing shown - inswing also approved

1/4" MAX. #10X 2-1/2" PFH
SHIMSPACE  WOOD SCREW

/ / / DRYWALL

JAMB: "FusionFrame"
{1 OR 2-PIECE)

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW

. (SEENOTE | )\

™\

2X FRAMING
(G>=0.42)

L i s

SIDELITE PANEL

EXT. SHEATHING

m HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9187

P.O. Box 230 Vairico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F-—11852

Spacing for sidelite screws:
4" from each end (2 total).

e
=
o
=
O
]
wn
> %
T ..
a 4 O
prd o] X
i = O
7
I
S
.. =
= a4
S S| &
sl g~
% =
[s o
i >
Ll in
L
o
IS}
&0
O
8l
=N
ajo
i@ |n
A z
o|® 1O
5| 2
glo| @
52 F
B
s
£y <
N
ey )
<
(¢
N [
3 [
I~ |
| lo
Z
oaTE: 12/11/17
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4771

SHEET 5 oF 7

© zao 7 R.W. BUILDING DONSBULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-958 Opaque Therma-Tru STL door OXO (LK, DB\C - Drawings\TX-4771.72_recover.dwg, 6.3

DOOR

_ W\
Z DoEgr[e) tsjléétzlr’ DOOR\/X
PANEL \ PANEL

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2>\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

4

6

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
{SEENOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/~4 "\ VERTICAL CROSS SECTION
\U Inswing configuration

! 456" |

INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

| 456" |
INSWING ADJUSTABLE THRESHOLD 2
ZAlL4565

[ ] : o

. 456 |
INSWING ARTICULATING THRESHOLD 7" INSWING ARTICULATING THRESHOLD
TACLA565 TACAS65FN

| MAX. DESIGN PRESSURE = +60/-60 PSF | | MAX. DESIGN PRESSURE = +60/-60 PSF |

—— 1.49"

! 4.56" |
17 QUISWING THRESHOLD
10BL4565

w Inswing Arliculating Threshold

DRYWALL SCREW
{SEE NOTE 1)

EXTERIOR

SIDELITE -
PANEL \

#8 X 2.5" COURSE THREAD — £

ENDURA WEATHERSTRIP

NOTE:

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/3" VERTICAL CROSS SECTION
W Outswing Bump Threshold

YL
4

NTER!OR

4" from each end (2 total).

#10 X 3" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

\\U Outswing configuration

(.

(73

——>l 1.38"

L s

4.56" ;

INSWING ADJUSTABLE THRESHOLD
ZAILAA4565

b

1.6"

oo
B

! 456" |
INSWING ARTICULATING THRESHOLD
ZACLAA4565

L P

| 456" | } 456" |
) INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZAIAA4565FN ZAl4565RDS

| MAX. DESIGN PRESSURE = +55/-60 PSF |

[ 456" ! 456" |
o) INSWING ARTICULATING THRESHOLD 70 INSWING ARTICULATING THRESHOLD
IACAA4L65FN LAC4565RDS

| MAX. DESIGN PRESSURE = +60/-60 PSF |

| MAX. DESIGN PRESSURE = +60/-60 PSF | | MAX. DESIGN PRESSURE = +55/-60 PSF |

! 456" |

12 OUTSWING THRESHOLD
IOB4565FN

456" |

|
? 13 OUTSWING THRESHOLD
IOB4565RDS

Spacing for sidelite screws:

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:
BY

UPDATE TO 2018 IBC/IRC CODE

11/20/191ADD "FusionFrame” OPTION &

1

REVISIONS

L
<€
[
S
pd
7

DATE: 12/11/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4771

SHEET 6 oF 7

© za17 R.wW. Bui.piNng CONSULTANTS INC,



RAClients\Endura PERMANENT\B - Texas Dept of Ins\TD{ - DR-958 Opaque Therma-Tru STL door OXO (LK, DB\C - Drawings\TX-4771.72_recover.dwg, 7.3

Y HEAD ANCHORS: 2X FRAMING HEAD ANCHORS: u
(E) < #10 X 2-1/2 WOOD SCREW (PINE JAMB) {BY OTHERS, TYP.) #10 X 2-1/2" WOOD SCREW (PINE JAMB) to
E 5 ¢ #10X3"WOOD SCREW (1-PIECE JAMSB) SEE DETAIL | #10 X 3" WOOD SCREW (1-PIECE JAMB) 3 3, 2y
E:i 8 "411 (TYP.) ;——> g — o (TYP_) ] ot e (TYP') o (TYP.) S é: I § %Ig
5 3" (TYP) [l 4 vp) T 4 (TYP) —m we = Z y o
s ES W
i m_z 4 ‘ k; S g 9o N
11 SEE HINGE I 1 1 | 1 . 3 § £o %f—f
DETAIL 1 B T N ] s mg
g f ? o5 bb
T E3 — — & oy &8
= 0. = O Xz
1 | © = © 'g g 8 o %%
§ 592 gu
- — & oo g
- . § 8%
. \I s B \ e 5 £
g Nz FRAME NE E X B8
T H3 o Ir (TYP) : :
| N % g X @) (@) X 0] @ o
- 2 LN
Q : ]
oS SEEHINGE = |7 7 g ~ SEESRKE” !
= DETAIL 2 ' PLATE DETAIL 2 o
— SEE DETAIL1 SEE DETAIL 1 é
1 o] oy JAMB ANCHORS: (P, < S
f3 FRAME #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) S |40
(TYP.) =~ — #10 X 3' WOOD SCREW (1-PIECE JAMB) - — S & Z
| | M) 1] L1 111 [ M 11 Gg w
- Z N 7\ = £ N
SILL ANCHORS: SILL ANCHORS: 5 x t
HINGE JAMB #10 X 2-1/2" PFH WOOD SCREW #10 X 2-1/2" PFH WOOD SCREW § =
1/4" X 2-3/4" ELCO OR 1/4" X 2-3/4" ELCO OR & <
FLOOR SUBSTRATE MATERIAL - FRAME ANCHORING — ry concrere screw FRAME ANCHORING TW CONCRETESCREW ~ STRIKE JAMB = -
CONCRETE {MIN. 3000 PSI} OXO ks %
WOOD (G >= 0.42) =
8
o
KO
Zl&
JAMB NOTES: 3 AN
JAMB NOITES: #8 X 2-1/2" PFH WS ol v
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. // o CZD
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. o L] @ g é n
@ | s =
INTEGRAL MULLION NOTES: #8 X 1"PFH Wsé' ol 1= #8 X 3/4" PFH WS 59| |
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame” BACK-TO-BACK ~e [je e o M
JAMB (1-PIECE OR 2-PIECE} MAY ALL BE USED AS THE INTEGRAL MULLION. " [ 4" X 4"HINGE Ll
CONCRETE ANCHOR NOTES: : \ =S
1. Concrete anchor locations at the cormers may be adjusted to maintain the min. <
edge distance to mortar joints. HINGE DETAIL 1 g W
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8X 2-1/2" COURSE RE
maintain the min. edge distance to mortar joints, additional concrete anchors {HREAD \}‘ I~ o
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" PFH WS T
3. Concrete anchor table: DRYWALL SCREW 7 ?TEQI&BSLST?EECUR”Y // / = %
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, “CIEARANCE | MIN. CLEARAN // #10 X 3" PFH Ws <= :.:.j DATE: 12/11/17
OEg.gZNR ZIR #8X 1"PFH WS é:. S sexaaprrws  [2E _NTS
. B2 "~ K #8 X 2-1/2" PFH WS ——| ACH STRICE - — 4" X 4" HINGE owe. o JK
® 1/4“ 1_3/ u ‘I_‘I/ " 4" STRI N CHK. BY: LFS
TAPCON — PLATE DRAWING NO.:
DETAIL 1 X ;777
ELCO " " n " M 33, -
ULTRACON®| 1/4 1-3/ 1 4 Integral mullion attachment STRIKE PLATE DETAIL HINGE DETAIL 2 —

© zo17 R.W. BUILDING DONSULTANTS INC.



